9.9 Circle Proofs.notebook May 09, 2019

DO NOW

In the diagram below of circle O, points K, 4, 7, 1,
and E are on the circle, A KAE and A ITE are

drawn, KE = EI. and /EKA = /EIT.
Which statement about A KAE and AITE is

always true? X .
0
W

Congfue Nt
oy AAS
1) They are neither congruent nor similar.
2) They are similar but not congruent.
3) They are right triangles.

They are congruent.
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Similarity Circle Proofs

REMEMBER: To prove triangles SIMILAR (~),
use Angle-Angle (AA)

If the triangles are similar, then use
corresponding sides to prove a PROPORTION

Once you set up a proportion, you can use it
to prove that CROSS PRODUCTS are equal
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Given: B is the midpaint of AC

Frove: aDBC ~aCBE A

Statement Reason B
1. Bis the midpoint of AC | 1. Given ¢
2. ZE ~ ,/92' 2. Definition of midpoint
3. /B~ /B 3. Reflexive Property
4. ZACB = /BEC L}) Tnseroed 29 et wnRrex \9“

Z QS ave =
5.ADBC ~ ACBE 5. AA
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In the diagram below, quadrilateral ABCD is
inscribed in circle O, 4B || DC, and diagonals AC
and BD are drawn. Prove that A ACD = ABDC.

Statement Reason
) AS /I DC D) Given
A A/f) S Be 2) Pavalle | chord s —\AA >
—_ ittvegpd 2 ares >
33 AD= BC ?;)Cot\rﬁ\!vwf\’\‘ D IS g’

avcs \mone = Chovd s
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ot iakvetpt = %
V(s avl = . D C
3) lwscovilaedh &5 Mok

v e pt e savr AvC
LY AACD T ABDC aie =
Q) AAS
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In the diagram below, PA and PB are tangent to
circle O, OA4 and OB are radii, and OP intersects
the circle at C. Prove: £Z40OP = ZBOP A
Statement Reason
D) PR and FB ave | V) Given o c
Fngents bo cinckD
) PAL OA radive 2§ a civcle ark,
_?é 0B L ot point ot -\-M\?)enc\l SAS
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In the diagram below of circle O, tangent EC is B

drawn to diameter AC. Chord BC 1s parallel to
secant ADE, and chord AB is drawn.

prove:. BC. _ AB
rove: CA_EC

Statement

DRAC~AEAC A

Reason
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